The matter of planos was again discussed and the various bids were read and compared. Since the Board could not reach a decision; Mrs. James in connection with Mr. Cuthbertson and members of the school faculty was authorized to purchase at a later date. The sad at tem brack adf

Upon motion of Mr. Cuthbertson with a second from Mrs. James, Mr. Jack Meredith was employed at a salary of \$125.00 per month as engineer of the new heating plant. The motion was put and all voted in the affirmative. bevouge bas

Upon motion of Gen. Denhardt with a second from Mrs. James the employment of an assistant engineer for the new power plant was left in the hands of the local committee. who will receive recommendations from President Cherry. The motion was unanimously passed.

The Board then adjourned.

c' Extension earl and they read and a ren cor - co-Minutes of the Board Meeting oging goldens

the effect that the cost of total so the choice of to carry out their sessencet sile tes In wereter to the matter

February 19, 1927.

The Board met in the office of President Cherry with Superintendent McHenry Rhoads, Mrs. James, Mr. Cuthbertson and General Denhardt present. The house was called to order by the Chairman, the roll called and the minutes of the previous meeting read and adopted.

Upon motion of Mr. Cuthbertson with a second from Mrs. James, Dr. Cherry was asked to notify the Columbia Mills Company of our acceptance of their bid for curtains, calling attention to the fact that we shall expect them to be installed with the rollers and pulleys mentioned in our specifications to be used in installing. The motion was unanimously adopted.

President Cherry then read his report on the financial conditions of the institution. It was approved as read and ordered entered on the minutes.

> the of the two or aban sold to The report follows:

o' \$552.25. Coom reuter of you

tra. dames, the poll were called and an

are to tholude bits for enriture, estiliar to alid abulant of ere Estimated Receipts and Expenditures unanimously passed.

February 1, 1927.

Nr. Cuba erteon moved the Li. Vill. , the Lat

y ad wn sans	bas disir s	secured for	ed , soot	hosk avan
RECEIPTS	toreh militari	adming out	namaderd	guested to

- India tew

07 111	drives and roads and for further deve - makes of the b
1. 1. 2. 2. 2.2	Cash American National \$ 12,724.25
	Cash Citizen National
	Nusic 1,614.00
morth dan	Laboratory Fees and fareded to noliton 1,523.00
20 5	Tuition anishing a to en dome ent no 116.00 so . The
Search tew	Rent of a
	Correspondence and Extension 10- 2,442.00
	State Treasurer 133,896.77
	Training School Fees 1,132.00
	Incidental Fees 5,000.00
	Special Appropriation 160,000.00
	Notes Receivable 9,595.00
	Warrents 60,370.10

the filter in the fire in the fire

\$389,501.60

na lan

Las In

Section 5

vir som EXPENDITURES barrored nedt mostredden . 1

with Mr. Will Sumbber ry the to the	Well- call
Accounts Payable	17,025.80
Salaries, 5 mos. at \$20,000	
Current Expenses 5 mos. at 8000.00	40,000.00
Heating Plant Covering Conduit	1,500.00
Heating Plant Raymond	4,682.00
Heating Plant Meyer	30,070.45
Library Bldg., Raymond	152,687.00
Home Economics Bldg.	800.00
Music Hall in the land that the tent the	250.00
Fire Escape	1,000.00
Architects Fee	5,400.00
HeatMusic HallDaughtry	658.48
Equipment	2,838.32

\$356,912.05

Balance

\$32.589.55

Upon motion from Mrs. James with a second from Gen. Denhardt it was unanimously agreed that the necessary steps should be taken to sod the Athletic Field and that the work be done by the school force. Passed.

Upon motion from Mr. Cuthbertson with a second from Mrs. James it was agreed that the Architect, Mr. Davis, be instructed to draw up plans and specifications for the construction of the concrete stadium for the purpose of securing bids to be submitted to the Board of Regents for the purpose of letting the contract. It was understood that these specifications are to include bids for curbings, railings and all arches necessary to complete the Athletic Field. The motion was unanimously passed.

Mr. Cuthbertson moved that Mr. Wright, the Landscape Architect, be secured for a visit and that he be requested to prepare blue prints for the development of walks, drives and roads and for further development of the Hill to the extent of ten thousand dollars (\$10,000). The motion was seconded by Mrs. James and unanimously passed upon roll call.

. Upon motion of General Denhardt with a second from Mr. Cuthbertson the purchase of a Frigidaire at a cost of \$520 (installed) was ordered to be made. The motion was unanimously passed upon roll call.

Upon motion of Mr. Cuthbertson with a second from General Denhardt it was unanimously agreed that the Barrett Company, 40 Rector, New York City, be notified at once of the leaking roof at the Training School, and be requested to remedy it under the 15 year guarantee.

The Board also directed that Mr. Raymond be notified of the buckling floor in the Training School.

Mr. Cuthbertson then reported that he had recently had an interview with Mr. Will Sumpter relative to the supply of water on the Hill, Mr. Sumpter having stated that the city authorities are working earnestly at a plan that will relieve the situation on College Heights and that the City Council contemplates the erection of a stand pipe with very little expense to the school. He hopes to make a more definite report at an early date and asks that the school be patient a little while longer.

Dr. Cherry then made nominations for faculty, both teachers and other employees, for next year calling special attention to the few increases in salaries that were asked to be allowed. Mr. Cuthbertson moved that these nominations and recommendations be approved. His motion was given a second by Mrs. James. The Chairman then called on any member for discussion. After this the motion was unanimously passed upon roll call. The list follows:

PERSONNEL

1927-28

President H. H. Cherry nominated the following persons for work for the fiscal year 1927-28. The names, the time for which employed together with the salary is stated below:

Committee by the first to the

None

Name	colours	Months	Monthly	Annually best . A . D
A. L.	Crabb Cois	12	333.83	4000.00
	rman of Facul	lty		Saglish .
	ickles	12	325.00	3900.00
The second second second second second	ory & Economi		F. C. C. F. C. T.	Chemicary
	1500.0000	, 12	308.83	3700.00 - 1 5-6 mile
	rman, Entrance			0,007,0002
	it@0.020:	4		station somethic
L.B.St		12	300.00	3600.00 4 2 2 4 2
	. of Training	School	5.	Sligger arecarlis
M.C.Fo	rd	12	283.33	3400.00 donest
Chai	rman Dept. of	r 00.001	1.0	North Los Isylor
Agri	culture			Bone Econocios
J.R.Al	exander	12	283.33	3400.00
Math	ematics .			
A.C.Bu	rton.	12	283.33	3400.00
	1 Education			- C
	. Smith	12	266.66	3200.00
Scho	ol Adm.& Supe	ervision		and the same
	aig	12	266.66	3200.00
	otor Personne			- Tal
	itho. Geal	12	286.66	3200.00
	Manual Arts			land fragety in
	Wilson	12	250.00	3000.00
Engl				Pensacahia
	ff 40.008:	. 12	250.00	3000.00 00111 0271
	omies & Socie			4 Solvato
	MoMurtry	12	250.00	3000.00
	l Education			12341
	dersonoz	12 6	233.33	2800.00 anoH dqIan
	ndary Science		*** **	
	rbrough	12	233.38	28 00 . 00 5 8 - 11 5 2 2
	ematics	12	225.00	aron on delies
	Day .	12	220.00	2700.00
	Economics . Page 3	~ 12	225.00	2700.00 Y
Phys		16	220.00	2100:00
The second secon	eophilus	12	216.66	2600.00
	al Husbandry	••		2000.00
	Ferguson	12	200.00	2400.00
Hist		••	20000	2400.00
E.H.Ca		12	208.33	2500.00
	strar			
	eth Dabbs	9	222.22	2000.00
	ical Educatio			
C.P.Mc		12	238.53	2800.00
	istry			
Chas.	L. Taylor	12	233.33	2800.00
	t Husbandry	4.1	4.77	- 19-19 1 - 1
	Lancaster	12	200.00	2400.00
	. & Biology	100	* The second of	A service of the serv
	ell Travelsto		183.33	2200.00
	ic School Mus		222 22	and the second of the second of
J.H.Cl		12	175.00	2100.00
	ish Literatur		8.4	gm = 157
M.L.Bi		12	266.66	3200.00
Psyc	hology	06.29	7.0	Such Tuck, The correct
				Was a second and a second a second and a second a second and a second a second and a second and a second and

Monthly

Annually.

	the same of the same	The state of the s	COLUMN TO THE PARTY OF THE PART	
Name	Months	Monthly	Annua 11y	
C. A. Loudermilk	24.12 oli	225.00	2700.00	Tame
Zoology & Agriculture	200	TO BE SHOULD BE	一种种的	
Mrs. T.C.Chenry	60.126	175.00	2100.00 10	.d .a
English			rmen of Facul	
J. T. Skinner	.12	150.00	1800.00	
Chemistry Ella Jeffries Ove	₹8.12	166.66	12 500 £ 700 00:	
Geography		100.00	rasn, Entrance	
Florence Ragland	12	. 160.00	1920.00 :1	
English 10. 2002	30.014	. 31		1.8.3t
Elizabeth Woods	12	150.00		
	12	150.00		M.C.Fo
Mary Lee Taylor Home Economics	12	180.00	rm.00,0081. of	
Frances Richards	.12	150.00	1800 :00 x	
English			acidane	
Mrs. Vonnie Hillyard	. 22	160.00	1440.00	25 . V
History			Bdu sati	The section of Participation (Sec.)
Julia E. duVal	. 19	160.00	1440.00 /#	
French & English Nellie B. Wright	.12	150.00	1800.00	
Nurse		20000	otor Perac	
Ruth Moore .	.12	140.00	1680.00 + 1	
Mathematics			int I ar a . E	
G.G.Craig .	. 12	150.00	1800.00	
Penmanship Ivan Wilson .	00.12	233.66	1600.00	
Drawing & Art			20108 * 20100	
Elizabeth Themas	. 12	125.00	1500.00	
21Latin		The last	1 Educación	anua
Ralph Honacker	.10	30.00	\$00.00 ab	
Botany & Agriculture Susan B: Riley	23.29	200.00	1800.00	
English		200.00	8013 810	
Gladys Knott.	. 12	115.00	1380.00	
Physical Education		ENGLAND.	Economics	
Warner M. Willey	. 12	208.83	2500.00 .	# .on!
Education & Tr. School	. 12	166.66	2000.00	7. 117
Lowe G. Johnson English & History	. 12	100.00	2000.00	
W. H. Wood	12	175.00	2100.00	9
Science, Training Sch	ool& Colle			
Thos: McGehee	. 10년	180.95	1900.00	
Athletics & Social Sci	ience		22.4	
Mrs. H. R. Matthews	12	166.66	2000.00	
Language, Training Sch		200.00	- + '/e'	
Sue Howard	12	158.33	1900.00	-
Mathematics	56.	1.0	. Tay Lor	4 27
Elsie Kimmel	102	223.80	2350.00	1 3-
Primary Education Ethel Clark	101	180.95	1900.00 .	1 (a) (b)
Rural School	166.55		ell fravelcte	
Norma Jones	10½		2000.00	
Kindergarten 1	0 541 .	1481 ×	- P E d \$ 0 2 H.	
Addie Lee	10 2	180.08	100.00 7	-93
First Grade	12	50.00	600-00-	
Ruth Tuck Stenographer	The act	MAN NO.	600.00	604

V STATE OF THE STA	TAME SELECT		
Name frontes vidence	Months	Monthly	Annually
Martha Sphas: 38.18	101	155.09	1419.60 690
Mathematics, Training			and organization
Schools oc. 905 Ethel Waledd	101	171.42	1800.00
Third Grade			10% affrechtag
Mamie McCormick	12	166.66	2000.00
Training School		I well	L . A . eagh . any
K.Wilson Tucker Second Grade	101	150.00	1875.00
Manétta Heidman	12	166.66	2000.00
Home Economics, G. At .			THESHIP MOTE
Ines Ellis Sixth Grade	9	122.22	iver allogadi.
Franz. J. Strahm	12	291.66	3500.00
Music Department			
Lenore Wilson	12	166.66	2000.00
Voice			
Sally Rodes Piano	12	125.00.	1500.00
Olivia Kirby	10	50.00	500.00
Pub. School Music. S. E.A. Diddle	12	225.00	2700.00
Athletic Director.	••	220.00	- 1 sH . 0 . "
W.M. Pearce	12	. 275.00	3800.00
Dir. Extension Dept.		100.00	1200.00
Sec. Extension Dept.	12	100.00	1200.00
Lois Dickey	12	65.53	780.00
Stenographer & Operato		A CONTRACTOR	Toltal Samma
Margie Helm	12	166.66	2000.00
Librarian Bertha Landauer	12	105.00	1500.00
Library		100.00	In all parts
Prances Henninger	12	100.00	1200.00
Library			5x-0#. 5.
Library	12	37.60	450.00
Florence Schneider	12	183.33	2200.00
Bursar			
Rex Myers	12	166.66	2000.00
Bookkeeper Mrs. Gussie Havard	12	100.00	1200.00
Asst. Bookkeeper		200,000	1100.00
Roberta Moody	12	86.00	1030.00
Stanographer		05.00	***
Chas. S. Nahm	12	25.00	300.00
Treasurer R.H.Seward	12	100.00	1200.00
Sec.College Heights			
Foundation			
Mary Stallard	12	133.33	1600.00
Asst. Registrar	12	05 00	1000 00
Ingie Bassenback	12	85.00	1000.00
Mrs . B. Tichenor	12	75.00	900.00
Clerk		Y	a a sadan a Ff
Clerk James	12	20.00	240.00

	HAND SERVICE COUNTY OF	THE STATE OF THE S	
Name I was A vistor	Months	Monthly	Annually
Bessie Phillips 00.881	12		Hatton.counter.
Nattie McLean	12	200.00	2600.00
	7592	101	Linel McLed
Secretary to Presider	12	The second secon	1300.00
Marguerite Forsting		108.33	Manie McCornic
Stenographer 10 341			
Mrs. Anna E. Riley	12		1100.00
Stenographer			hison facke.
Mrs. Gus Brand	12		1080.90
Stenographer	30		Ambiel Affendu
Etta Runner	12	40.00	Ines Ellis
Stenographer	•	000 00	eta 2000.00
Magnolia Scoville	9	222.22	Prenz 2. 3zr
Training School	12	79.00	840.00
Mrs. Lillian Thompson	12	30.00	540.00
Stenographer Carrie Strange	19/ha	lf time)37.50	450.00
Stenographer .	IE (na	11 01:10004.00	
Mrs. W. A. Lee	12	172.00	2064.00
Dir.J.Whit Potter Hal		112.00	120110
Wildred Reynolds	. 12	200.00	2002400.00:
Dietitian	+-	200.00	E Diddle
C. C. Hart	10	, 25.00	. 250.00
Supply Officer , R.O.T.	The state of the s		N. M. Pearce
R. A. Walters	10	16.00	160.00
Janitor, Rusal School		22	Soul nellili
D.F. Nisbet	12	16.00	192.00
Representative .	- 2		ois Dickey
Emmett Taylor	12	100.00	1200.00
Poultry Plant 68.861		31	Margie Helm
Joe McCartey	12	80.00	960.00
Farm Foreman .			Bertha bands
Delmer Hazel	12	60.00	720.00
General Farm & Tracto	r	145	Prances Rennin
W.J.Board	12	60.00	720.00
Truck Gardner			Tene is has been
Bllioth Drr	. 9	200.00	1300.00
Band Leader			April America
'Porter Hines	12	125.00	1800.00
Engineer			Viliano Paver
Chester Harrison	12	60.00	720.00
General Farm & Livest			
Gene Sanson	12	50.00	600.00
Farm	10	127 27	1400:00
R.C.Woodward	12	133.33	1600,00
Supt.Buildings & Grou	- 9	112.50	1012.50
Mrs. Herman Lowe,		112.00	1020.00
Aubrey Hoofnail	12	75.00	900.00
Night Watchman		10.00	200.00
Raymond Hoofnail	12	70.00	840.00
Truck Driver	-		3 - 1 - 6 - 1 - a
J.W. Newton	12		780 -00
Janitor, Potter College			itendgrapher
Grider Hall	12		780.00
Janitor, Training Scho	ool		
Clarence: No Pherson	12	65.00	780.00 at
Janitor, Administration	on Bldg.	0.00	lerk
	40	The second secon	The state of the s

,56 tr	en has	ne ad swife out M	of Bal cosa
W. E. MoPherson	12	65.00	780.00
Janitor, J. Whit Potter H	12	40.00	480.00
Sanitrass Emmett Walton	12	65.00	780.00
Fireman Luther Cornwell	12	65.00	780.00
Fireman S. J. Weredith	12	125.00	1500.00
Fireman Sylvia Bailey	12	45.00	540.00
Janitress Cora Edson	12	40.00	480.00
Janitress, Adm. Bldg. Matilda Taylor	12	40.00	480.00
Janitress, Library Bettie Hill	. 12	40.00	480.00
Janitress, J. Whit Potter		*	
Cherry Edson Janitress, Potter Colleg	·12	40.00	480.00
English	12	300.00	3600.00
Raymond Hornback Editor, Herald	12	20.00	240.00
Roy Owsley Asst.Editor of Herald	12	20.00	240.00
P.J.Bmberger	12	10.00	120.00
Elsie Hess Home Economics	12	150.00	1800.00
Marguerite Sanders	12	50.00	. 600.00
Ozetta Hayden	12	Ø5.00	960.00
W.J.Edens	12	200.00	2400.00
Science Beatrice Ditto	12	100.00	1200.00
Nurse, J. Whit Potter Hal	12	140.00	1680.00
Instructor & Field work	12	166.66 2/3	2000.00
Assistant Coach Susie Pate	12	150.00	1800.00
Home Economics Hayward Brown	12	216.66 2/3	2600.00

. Notice : adjusts new than the continue.

Upon motion of Mr. Cuthbertson with a second from Gen. Denhardt, President Cherry was reelected to his present position at the same salary.

Motion to adjourn was then made by Mrs. James and seconded by Mr. Cuthbertson and passed.

Taatte A My Lean

Mertan Rhoadson

Fireman Suther Cornwell

K. E. Ferherson

Firemen ... S. J. Werestin

form single

Minutes of the Board Meeting

Sylvia Bailer Janitress

April 22, 1927,

At a meeting of the Board of Regents of the Western Kentucky State Normal School and Teachers College held in the parlor of the Seelbach Hotel, Louisville, Kentucky at 3 p.m., April 22, there were present Hon. McHenry Rhoads, Lieut. Gov. H. H. Denhardt, Sterret Cuthbertson, Col. Henry Stites, and Mrs. J. W. James. Also President H. H. Cherry. The Secretary, Miss Mattie McLean being absent, the Treasurer, Charles S. Nahm, was called upon to act as Secretary pro tem.

In the matter of the Stadium to be built. it was a moved by Mr. Sterret Cuthbertson and seconded by Gen. Denhardt that bids for the same be opened by the Board of Regents on Friday, April 29, 1927, at 9 a.m., that advertisements be inserted in the Bowling Green papers to that effect, and that Capt. Davis be notified to be present. Same unanimous. Carried.

Mr. L. T. Smith being present made a report on the contemplated fire escape to be built on Potter College; the same being in accordance with drawings O. K'd by the State Fire Commissioners. Bids as follows:

Mesker & Company \$612.00 International Steel Co. \$747.20 Logan Company \$598.65

These three bids exclusive of installation. It was moved by Gen. Denhardt and seconded by Mrs. James that the Logan Company bid, being the lowest bid, be accepted. Unanimous.

Dr. H. H. Cherry asked that the Board authorize the issuance, after the requirements have been complied with and approved by the Committee on Credits and Graduation, of diplomas and certificates. Moved by Mr. Cuthbertson seconded by Mrs. James that the same be authorized. Unanimous.